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7.4 Practice Problems

Classify each statement as true or false.
1. Opposite sides of a rectangle must be parallel. _:r_;_/
2. The diagonals of a rhombus must be perpendicular. _'_q '
3. Consecutive angles of a rhombus are always complementary. L
"
4. The diagonals of a rectangle are always perpendicular. __ |~
. . /
5. Opposite sides of a parallelogram must be congruent. ___|
6. Each diagonal of a rectangle always bisects a pair of opposite angles. __.,E_____

For 7-9, remember when drawing a polygon the vertices must go in the same order as the name.

7. Given Rectangle ABCD, find the length of the diagonals given the following lengths. 12 x "77 4
AC=4x+3y,BD=8x+y,AB=6x+y,CD=2y+4. A B Ac=BP O
Bonus, find the perimeter. ' X i "'g‘/ =5 X+ £
‘ D ¢ ~Pxwy=0 X~y =4
8. Given Rhombus WXYZ whose diagonals intersect and point A, find x and y given the following expﬁ”s'éi_o_ﬁs for eac
angle measure. Angle WAZ = 2x + 3y, angle XAY = x + 6y. o Dy 3y= 90
i y X Hoy = 90)
9. Given the perimeter of square GEOM is 48, find the length diagonal GO. Ay -1Q o fo
P! 12 -—-}falx__, X=12073 7 '

i
10. Use rhombus PQR5%nd the given iformation to find each value.

If 5Q=24,RP= 10, find SR (3 C fythagorsa, Than

If mPRS = 17, find m/QRS. =24 (O'agonals Bsoct Males
LJ'{' ﬂLfmﬂé&S}

Find msSTR. 90"

If SP=4x - 3 and PQ = 18 + x, find the value of x.
Yx-3 7 18~%x  Egeilafe|

Y=l
=7

X=1 " .

11. Use rectangle RECT and the given information to find each value. A 9 708

D o

3 20

mZRCT = 30°, find m<ETC. = 2

T C

" IfRC=5x+ 2 and AE = x + 14, find the value of x.
5x+2 > (Xt
If mZEAC = 40°, find mZAEC. EXTA:2x42Y
- ]o° 3x <2

X294



12. Determine whether each set of coordinates is a parallelogram, rectangle, rhombus or a square. You must provide a

reason for your choice.
a) M(1, 5), N(6, 5), O(6, 13), P(1,10)
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b) W(5,4), X(3, -6), Y(0, -10), Z(2, 0)
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13. Given rhombus ABCD, AB=5x+y-1,BC=1

CD=8x-2y+2. Findxandy.

14. A B

Given i}_!iC Disa paraliclogram. N Li'/ K‘\/

Qu GYL

AC L BD
Prove ABCD 1s a rhombus.
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15. PROOF Write a proof in the style of your choice.
Given AXYZ = AXWZ, LXYW = LZWY
Prove WXVYZ is a rhombus.
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